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BASIC CONCEPTS:-
A= 80
=120

/ A 1s what percent@
I- A @Iohd*ll
1I- B 1s what percent more

- B,(A 9 fferd Tfdsrd 3feres &2



80%

83.33%

87.50%

100%

120%

125%

133.33%

150%

175%
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Question 1-If 11 %% of a number added with itself

then result comes 120. Find the number?

: 1 ~ ~
T 1- Ife ferel) wet < 115% g ST Sar e

a1 gfome 120 ATdr 2 9 ShIfeTa?
30 A.76

. B108

C. 96

D.116
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Question 2- A number first increased by 20% and further

increased by 30%. Find total percent increase in original

number?
WWL"/O 0502 Ush HAT H echi20%:Ah! 914 g% AN ThT30%. 1 afs
ST AtgtId g%| {cT ST Highel SCIRIc Sl STl shifsrar?
g %0 A.50%
20430+ o3 B 56%
S ‘Q@ C.40%
ZSO“LG 30) D-60%
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Question 3- The income of a person 1s Rs 12,000 and expenditure 1s
Rs 8000. If his income 1s increased by 20% and expenditure 1s also
increased by 30% then find percent change in his saving.

T4 3- Teh A shl 311 12,000 T 3R =72 8000 T 7 Al 3T
AT H 20% <t afig Bt 2 3 == & oft 30% it afig areht 8, O swehl

EERRBIGRGR I ECRERIGEAINE]
A.20%
B. 50%
30 C. 40%
CB7No changemé
JaATd TRl
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Question 4- A team played 60 matches and lost 24 of

them. Find the winning percentage.

T 4- Tk 2 A 60 Hel @l 3R 34 © 24 FINSId o1 Jfasrd
@ bj«fﬁ GO~ I IS

A.20%
56

(’%ET Qﬁf B. 40%

ﬂéX\Oﬁb Go / _E-60%

50 D.50%

30
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Question 5- If the food price increased by 10% then how
much percent should consumption be reduced so that

expenditure does not change.

o - - N O

T 5- Ale W Ged H 10% 3h! 91 T8 © I @ sh fohe

gfaRTd oY foRaT STTHT AT dTfeh 39 § Uiad 7 2l
| | A79.09%
8T|'/n3¢\ IO0Y,  BaL11%
‘ O RYZ

309 L 3/5 Ij\ 7 % b
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Question 6- In an exam there were 500 boys and 300 girls. If 40% of
boys and 50% of girls fails. Then find total pass percentage.

I 6- Tk T § 500 Tk I 300 Aeihar offl i< 40% dgah 3 50%
TS RAT STHBE &1 ST &1 AT et eIl TTTa 1 hITo|

(RO .
D 3edet (5 H’W-%OT(\): 800 A 667, 4300507, AA- 4370

 B56.25%
C.33.33%

o = D.12.5%
/ ﬂi@’m SGQS;/ 30 S

—

= 800+ |54

S
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Question 7- To pass an exam 35% marks are required. A students

scored 310 marks and fails by 40 marks.Find the maximum

@ ﬁﬂ}\% marks.

= 3I0+Ho T 7- Tk TOET S0 L o (AT 35% ek HTILAF &l Teh T -

= %cp 310 37 UTH foRT 3T 40 37hi § ST &I 7T
3AfeIeRdH 7ok JTd hifsr| A.1200
35 = 550| qur &
: QDT I f>\00’/°-: loXlog, LB1000
= 1o \ S C. 2300
D. 2000
30
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Questian 8- A student scored 20% marks and fails by 30 marks. If he
scoredg@#% marks then he get 42 more marks than the pass marks. Find the

pass percentage.

T2 9- Teh BT 7 20% ieh ITH {ohT ﬁ Sl &1 AT Il 3E
382% 375k ITH fohT a7 39 ITAUT STehi & 42 AT 37eh ITH Bid gl STol Tiaerd
T IS A.33%
B.30%
30 C. 40%

_D25%
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Question 9- A person had certain money. He 10% of that for repair
and 40% of the remaining on travel. He then donated Rs 180 and
now he left with Rs 900. Find the initial money he had?

T2 9- Teh 54 1<h oh UTH S € ATl 8 HHAT o 7T 10% ST IBT T
Y AT 40% G KT 2| 389k d1€ 32 180 TII T T 319 3

I el 900 T 3T © | 3ok U1 TR & 1A ShiTSIT?

A.Rs 4000
HQW Rk 30 B. Rs 3000

C.Rs 2000
D.Rs 1000
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Question 10- The population of a town 1s 12,000 1n 2007. It
increased by 10% and 20% 1n next two years. Find the population

after two years. \00"!s

T 10- 2007 H Tsh 37& h] w—maﬁ & 3T &1 i H 36
@) ﬁ@?ﬁaﬁigﬁl 1 N1 oh ol1g SIHEEAT 1A ehitsr|

O LR = |Qooo AT |38y, A- 13840

-
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o
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B. 12840

= 00 L C. 14840

.\_3‘%/& = 13340 ;}.15840
30 '
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Question 11- If each side of a square 1s increased by 40% then find

percent increase 1n it area.

T 11- Il Teh a1 <l Teeh STSIT H 40% hl g ol STl &, 1 36k

SERNRC RSN I IS DY
Home L A.80%
B. 40%
C. 86%
D.96%
30
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QUESTION 12- TWO TRAINS ARE RUNNING ON PARALLEL TRACK IN SAME
DIRECTION WITH SPEED 40 KM/H AND 68 KM/H RESPECTIVELY. A MAN IN THE
SLOWER TRAIN CROSSED BY FASTER TRAIN IN 18 SECONDS. FIND THE LENGTH OF

FASTER TRAIN IN METER.

T 12- B ¢4 GHMHIA ¢ Y T T § ShueT: 40 forefi/eer 3R 68 ferfi/sier fr ifd &
=t Tal 8| it 37 | Ueh Sufth o i arett o SRl 18 Tehe U IR hLT 8| Wil H al o
AR EIERIGEEAISRI

A.100 m
30 B.120 m
C.200 m

D.140 m
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